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QUESTION 1

An analyst is building out a company KPI dashboard and creates a blank dashboard. The analyst can 

either create a new tile or use an existing Look. 

What are two use cases for using Look-linked tile instead of building a query tile? (Choose two.) 

A. The analyst wants to use the Look-linked tile in a separate company performance dashboard. 

B. The analyst plans on creating a scheduled report of the associated Look. 

C. The analyst is considering dashboard performance, and Look-linked tiles on dashboards lead to faster performance. 

D. The analyst wants the flexibility to export the Look-linked tile results to additional file formats not supported by query
tiles. 

Correct Answer: AB 

 

QUESTION 2

The query below shows how many uses purchased an item from each of two clothing departments. 

Why are the total and sum of the rows unequal? 

A. There is a filter limiting the count in the Total row. 

B. There is a faulty logic in the way users relate to clothing departments. 

C. A user is only counted once in the total even if the user has purchased from both departments. 

D. There are users who have never purchased a clothing item from either department. 

Correct Answer: C 
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QUESTION 3

A company has a Customer Lookup dashboard that can be filtered on a unique customer name. Business users
sometimes report unexpected data when they use filters with starts with or contains for the customer name. 

How should the analyst ensure that the filter is unique to one customer? 

A. Change the filter type to string. 

B. Enable the setting Limit one filter value. 

C. Use the Matches Advanced filtering option. 

D. Disable the setting Allow multiple filter values. 

Correct Answer: D 

 

QUESTION 4

The sales team has all its Looker content stored in a folder called Sales. Team members are complaining that the Looks
and dashboards have been getting moved and edited in unwanted ways. Only the sales analyst should be editing the
content in the Sales folder. 

Which access settings should be applied to the folder? 

A. Admins: Manage Access, Edit Sales analyst: Edit Sales group: View 

B. Admins: View Sales analyst: Edit Sales group: View 

C. Admins: View Sales analyst: Manage Access, Edit Sales group: View 

D. Admins: Manage Access, Edit Sales analyst: Manage Access, Edit Sales group: View 

Correct Answer: A 

 

QUESTION 5

An analyst needs to analyze the ecommerce quarter-over-quarter order growth. Two fields are given: Order Created
Quarter and Order Count. 

Which table calculation function should the analyst use to calculate the quarter-over-quarter order growth? 

A. pivot_offset() 

B. lookup() 

C. offset_list() 

D. offset() 

Correct Answer: D 
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